Problem 4: Slicing

Create static backward slices for Variables result, mode and this.mode.

09 public boolean toggle(boolean mode) {

10 boolean result;

11 if((this.mode&mode) || (!this.mode&&!mode))
12 result=true;

13 else

14 result=false;

15 if (this.mode)

16 this.mode=!mode;
17 else

18 mode=mode;

19 return result;

20 }

d(this.mode), d(mode)

p(this.mode), p(mode)

d(result) @ @ d(result)

p(this.mode)

c(mode), d(this.mode) @ c(mode), d(mode)

c(result)

c(this.mode)

Oantiant)



	Problem 4: Slicing

